@7/~ DIRTFREAIC APPLICATION by MODEL

KAWASAKI
VERSYS-K250/300/650/1000

Bike Year Description Part number
ZETA

VERSYS-X250 17-19 COMP Stabilizer W90 ZE33-2090
VERSYS-X300 17-19 COMP Stabilizer W90 ZE33-2090
VERSYS-X250 17-18 Pivot Lever <Brake> CP 3-Fin ZE41-3145
VERSYS-X300 17-18 Pivot Lever <Brake> CP 3-Fin ZE41-3145
VERSYS-X250 17-18 Pivot Lever <Brake> CP 4-Fin ZE41-4145
VERSYS-X300 17-18 Pivot Lever <Brake> CP 4-Fin ZE41-4145
VERSYS-X250 17-18 Pivot Lever <Clutch> CP 3-Fin ZEA42-3127
VERSYS-X300 17-18 Pivot Lever <Clutch> CP 3-Fin ZEA42-3127
VERSYS-X250 17-18 Pivot Lever <Clutch> CP 4-Fin ZEA42-4127
VERSYS-X300 17-18 Pivot Lever <Clutch> CP 4-Fin ZEA42-4127
VERSYS-X250 17-18 Pivot Lever Set CP 3Fi Black ZE44-6011
VERSYS-X300 17-18 Pivot Lever Set CP 3Fi Black ZE44-6011
VERSYS-X250 17-18 Pivot Lever Set CP 3Fi Blue ZE44-6012
VERSYS-X300 17-18 Pivot Lever Set CP 3Fi Blue ZE44-6012
VERSYS1000 13-19 Side Stand Extender Black/Slv ZE56-6210
VERSYS-X250 17-19 Side Stand Extender Black/Slv ZE56-6210
VERSYS-X300 17-19 Side Stand Extender Black/Slv ZE56-6210
VERSYS1000 12-17 'Magnetic Drain Bolt M12x15-P1.5 Blue ZE58-1522
VERSYS1000/SE 12-19 Magnetic Drain Bolt M12x15-P1.5 Blue ZE58-1522
VERSYS650 10-17 'Magnetic Drain Bolt M12x15-P1.5 Blue ZE58-1522
VERSYS650 10-19 |Magnetic Drain Bolt M12x15-P1.5 Blue ZE58-1522
VERSYS-X250 17-18 'Magnetic Drain Bolt M12x15-P1.5 Blue ZE58-1522
VERSYS-X250 17-19 Magnetic Drain Bolt M12x15-P1.5 Blue ZE58-1522
VERSYS-X300 17-18 'Magnetic Drain Bolt M12x15-P1.5 Blue ZE58-1522
VERSYS-X300 17-19 Magnetic Drain Bolt M12x15-P1.5 Blue ZE58-1522
VERSYS1000 12-17 'Magnetic Drain Bolt M12x15-P1.5 Red ZE58-1523
VERSYS1000/SE 12-19 Magnetic Drain Bolt M12x15-P1.5 Red ZE58-1523
VERSYS650 10-17 'Magnetic Drain Bolt M12x15-P1.5 Red ZE58-1523
VERSYS650 10-19 Magnetic Drain Bolt M12x15-P1.5 Red ZE58-1523
VERSYS-X250 17-18 'Magnetic Drain Bolt M12x15-P1.5 Red ZE58-1523
VERSYS-X250 17-19 Magnetic Drain Bolt M12x15-P1.5 Red ZE58-1523
VERSYS-X300 17-18 'Magnetic Drain Bolt M12x15-P1.5 Red ZE58-1523
VERSYS-X300 17-19 Magnetic Drain Bolt M12x15-P1.5 Red ZE58-1523
VERSYS-X250 17-19 Brake Reservoir Cover <Front> Blue ZE86-1501
VERSYS-X300 17-19 Brake Reservoir Cover <Front> Blue ZEB86-1501
VERSYS-X250 17-19 Brake Reservoir Cover <Front> Red ZEB86-1503
VERSYS-X300 17-19 Brake Reservoir Cover <Front> Red ZE86-1503
VERSYS1000 12-17 | Qil Filler Plug Red ZE89-2110
VERSYS650 07-17 Qil Filler Plug Red ZE89-2110
VERSYS1000 12-17 | Qil Filler Plug Black ZE89-2111
VERSYS650 07-17 | Qil Filler Plug Black ZE89-2111
VERSYS1000 12-17 | Qil Filler Plug Blue ZE89-2112
VERSYS650 07-17 | Qil Filler Plug Blue ZE89-2112
VERSYS-X250 17-18 Rear Brake Clevis Blue ZE89-5034
VERSYS-X250 17-18 Rear Brake Clevis Red ZE89-5035
VERSYS1000 12-18 BarEnd Plug Gold 2548-1204
VERSYS650 10-18 BarEnd Plug Gold Z548-1204
VERSYS1000 12-18 BarEnd Plug Ti-Color Z548-1208
VERSYS650 10-18 BarEnd Plug Ti-Color ZS48-1208
VERSYS1000 12-18 | SteeringStemBolt M26x30-P1.0 L=18.0 Gold ZS58-1214
VERSYS650 07-19 | SteeringStemBolt M26x30-P1.0 L=18.0 Gold ZS58-1214
VERSYS1000 12-18 | SteeringStemBolt M26x30-P1.0 L=18.0 Ti-Color ZS58-1218
VERSYS650 07-19 | SteeringStemBolt M26x30-P1.0 L=18.0 Ti-Color ZS558-1218
VERSYS1000 12-14 Flight Lever <Clutch> L4SP Ti-Color ZS60-5110
VERSYS1000 12-14 Flight Lever <Clutch> L4SP Black ZS60-5111
VERSYS1000 12-14 Flight Lever <Clutch> L3SP Ti-Color Z560-5115
VERSYS1000 15-18 Pilot Lever <Brake> Ti-Color Z561-1020
VERSYS650 09-14 | Pilot Lever <Brake> Ti-Color Z561-1020
VERSYS1000 15-18 Pilot Lever <Brake> Black ZS61-1025
VERSYS650 09-14 |Pilot Lever <Brake> Black Z2S61-1025
VERSYS1000 12-14 Pilot Lever <Brake> Ti-Color Z2561-1440
VERSYS650 07-08 |Pilot Lever <Brake> Ti-Color Z2561-1440
VERSYS1000 12-14 Pilot Lever <Brake> Black Z561-1445
VERSYS650 07-08 |Pilot Lever <Brake> Black 2561-1445
VERSYS1000 12-14 Pilot Lever <Clutch> Ti-Color 2561-2210
VERSYS1000 12-14 Pilot Lever <Clutch> Black 2561-2215
VERSYS1000 15-18 Pilot Lever <Clutch> Black 2S61-2235
VERSYS650 07-19 | Pilot Lever <Clutch> Black Z2561-2235
VERSYS-X250 17-19 Pivot Street Lever Set Black 2S62-1210
VERSYS-X300 18-19 Pivot Street Lever Set Black 2562-1210
VERSYS-X250 17-19 MasterCylinder Cover 36x54.5 Gold Z586-0114
VERSYS-X300 17-19 'MasterCylinder Cover 36x54.5 Gold Z586-0114
VERSYS-X250 17-19 MasterCylinder Cover 36x54.5 Ti-Color Z586-0118
VERSYS-X300 17-19 MasterCylinder Cover 36x54.5 Ti-Color 2586-0118
VERSYS1000 15-19 MasterCylinder Cover 53x98 Gold ZS586-0134
VERSYS650 09-19 |MasterCylinder Cover 53x98 Gold Z7586-0134
VERSYS1000 15-19 MasterCylinder Cover 53x98 Ti-Color Z586-0138
VERSYS650 09-19 |MasterCylinder Cover 53x98 Ti-Color ZS86-0138

VERSYS1000 12-14 MasterCylinder Cover 47.2x69.5 Gold ZS586-0144



&7/~ DIRTFREAIC APPLICATION by MODEL

Bike | Year | Description | Part number
ZETA

VERSYS650 07-08 |MasterCylinder Cover 47.2x69.5 Gold 2S86-0144
VERSYS1000 12-14 MasterCylinder Cover 47.2x69.5 Ti-Color Z586-0148
VERSYS650 07-08 MasterCylinder Cover 47.2x69.5 Ti-Color ZS86-0148
VERSYS650 07-14 |MasterCylinder Cover M52 P-4.0 Gold Z7S586-0414
VERSYS650 15-19 MasterCylinder Cover M52 P-4.0 Gold Z7S586-0414
VERSYS650 07-14 |MasterCylinder Cover M52 P-4.0 Ti-Color Z7S86-0418
VERSYS650 15-19 MasterCylinder Cover M52 P-4.0 Ti-Color Z7S586-0418
VERSYS1000 12-19 |MasterCylinder Cover M38 P-4.0 Gold Z7S86-0424
VERSYS-X250 17-19 MasterCylinder Cover M38 P-4.0 Gold 2586-0424
VERSYS-X300 17-19 MasterCylinder Cover M38 P-4.0 Gold 2S86-0424
VERSYS1000 12-19 MasterCylinder Cover M38 P-4.0 Ti-Color Z2S86-0428
VERSYS-X250 17-19 MasterCylinder Cover M38 P-4.0 Ti-Color ZS586-0428
VERSYS-X300 17-19 MasterCylinder Cover M38 P-4.0 Ti-Color ZS86-0428
VERSYS 11-14 Engine Plugs Gold ZS89-1204
VERSYS650 15-19 Engine Plugs Gold Z7S589-1204
VERSYS 11-14 Engine Plugs Ti-Color ZS89-1208
VERSYS650 15-19 Engine Plugs Ti-Color ZS89-1208
VERSYS-X250 17-19 |Engine Plugs Gold Z7S89-1214
VERSYS-X300 17-19 |Engine Plugs Gold Z7S89-1214
VERSYS-X250 17-19 Engine Plugs Ti-Color ZS89-1218
VERSYS-X300 17-19 | Engine Plugs Ti-Color ZS89-1218
VERSYS1000 12-19 | Qil Filler Plug M20 P2.5 Gold Z589-2104
VERSYS650 07-14 | Qil Filler Plug M20 P2.5 Gold 7S589-2104
VERSYS650 15-19 | Qil Filler Plug M20 P2.5 Gold Z7S589-2104
VERSYS1000 12-19 Qil Filler Plug M20 P2.5 Ti-Color Z7S89-2108
VERSYS650 07-14 | Qil Filler Plug M20 P2.5 Ti-Color Z7S589-2108
VERSYS650 15-19 | Qil Filler Plug M20 P2.5 Ti-Color ZS89-2108
VERSYS-X250 17-19 | Qil Filler Plug M30 P1.5 Gold Z7S89-2204
VERSYS-X300 17-19 | Qil Filler Plug M30 P1.5 Gold Z7S89-2204
VERSYS-X250 17-19 | Qil Filler Plug M30 P1.5 Ti-Color Z7S89-2208
VERSYS-X300 17-19 Qil Filler Plug M30 P1.5 Ti-Color ZS589-2208
VERSYS-X250 17-19 Rear Brake Clevis Gold ZS589-5034
VERSYS-X300 17-19 Rear Brake Clevis Gold ZS89-5034
VERSYS-X250 17-19 ChainAdjusterCaps Gold ZS93-3104
VERSYS-X300 17-19 ChainAdjusterCaps Gold Z7S93-3104
VERSYS-X250 17-19 ChainAdjusterCaps Ti-Color ZS93-3108
VERSYS-X300 17-19 ChainAdjusterCaps Ti-Color Z593-3108
VERSYS-X250ABS 17-19 | DC SUS Spoke Set <Front> DC421-1295
VERSYS-X250ABS 17-19 | DC SUS Spoke Set <Rear> DC421-5265
VERSYS1000/SE 15-19 B-Disk ThinHeadBolt Set 10-M8 22mm 4pcs ZT31-3764
VERSYS1000/SE 15-19 B-Disk ThinHeadBolt Set 10-M8 22mm 5pcs ZT31-3765
VERSYS1000/SE 12-19 | Chain AjusterBolt/Nut Set M8 50mm 2pcs ZT38-5501
VERSYS650 07-19 | Chain AjusterBolt/Nut Set M8 50mm 2pcs ZT38-5501
VERSYS-X250 17-18 Stock Replacement Lever <Clutch> STD D40-01-311
VERSYS-X250 17-18 | Stock Replacement Lever <Clutch> Short D40-03-310
VERSYS-X250 17-18 Stock Replacement Lever <Brake> STD D40-11-410
VERSYS-X250 17-18 | Stock Replacement Lever <Brake> Short D40-13-410
VERSYS1000 15-18 Flasher Holder Plates Black 2set D45-59-933
VERSYS650 07-18 |Flasher Holder Plates Black 2set D45-59-933
VERSYS-X250/300 17-18 Flasher Holder Plates Black 2set D45-59-933
VULCANS 15-17 Flasher Holder Plates Black 2set D45-59-933
VERSYS-X250 17-19 Rear Shock Link Kit LowDown D46-01-221

VERSYS-X300 17-19 |Rear Shock Link Kit LowDown D46-01-221



	versys1
	versys2

